CSC 501 Homework #4
Due date:  Monday, March 2
1. Starting with an empty binary search tree, show what the tree will look like after adding the following values (draw the final tree only).  Assume the binary tree stores nodes that contain int values.  Use the binary tree ordering property.  
12, 14, 16, 10, 21, 20, 23, 24, 8, 9, 17, 15, 18, 13
2. Is the tree from #1 height balanced?  Why or why not?

3. Show how the tree from #1 would be stored in an array.  For empty nodes, store -1 in the array location.
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4. Given the binary search tree on the right, show what it will look like after deleting 35.  After deleting 30.  After deleting 50.  Draw 3 trees, each one starting from the original tree on the right, showing the single deletion.
5. Repeat #3 using the tree to the right.

6. Assume a binary tree is composed of TreeNodes as covered in the notes, where each Node stores an int value.  Write a method to determine if a tree pointed to by TreeNode root is a full tree or not.  

7. Rewrite your code in #6 assuming that the binary tree is stored using an array.  

8. Assume a binary tree of int values is implemented using an array of ints rather than nodes with pointers.  Write a method for the insert algorithm.

